Chapter 22: An Age of Nationalism and Realism (1850-1871)

Lesson 3: Nation Building and Reform: The National State in Mid-Century

Opening the Lesson:

There are several important generalizations that can be made about the 19th Century:

1. From the end of the Napoleonic Wars until 1914 Europe was free of a major war.

2. The century, particularly the latter half, was a period of progress.

3. The strongest political forces of the period were liberalism and socialism, with their efforts to establish more democratic institutions, and nationalism.

4. Nationalism, while it differed according to conditions in each country, took on more conservative, aggressive, militaristic and racist overtones.

5. Militarism, another political force, became an increasingly disturbing trend in the latter half of the century.

6. Political unrest and even revolutionary activity continued to threaten a number of European nations with one such nation being the Austrian empire; an empire that France and Prussia had tried to dismember in the 18th C, an empire that was smashed four times during the N. Wars, yet emerged as the leader under Metternich and the Concert of Europe. Then, she was attacked in 1859 and again in 1866 but managed to endure.

7. During the 19th C, Russia earned the reputation of being the most conservative and the least willing to reform of the European powers. What facts help to prove this point?

a. Russia had no parliament until 1905

b. The serfs were not freed until 1861

c. What reforms were instituted came only after military defeats

d. Russian czars continued to claim divine right

8. Did Russia become an industrial power during the 19th C? Yes, but not until the latter part of the century did she begin to industrialize. It was the Crimean War that showed her how much she was behind the other powers.

9. Did Russia have problems similar to the other powers? Yes. First, like the Austrian Empire that consisted of many different nationalities and was ruled by Germans who were in the minority, Russia was also a multinational country where the Russians made up only 45% of the population. Secondly, revolutionaries were active, but many looked to the peasants for support rather than the middle or working classes.

10. The arts? She excelled in literature and music.

Developing the Lesson:

I: The Austrian Empire: Toward a Dual Monarchy

A. Emperor Francis Joseph  (r.1848-1916).

1. He came to power upon the abdication of his father during the 1848 revolution.

2. Conservative, dull, disliked everything liberal, progressive or modern.

3. Lived in a pompous dreamlike world.

B. The Empire After the Revolutions of 1848.

1. The government was repressive and ruled entirely by German-speaking officials.

2. Government policy supported the military and the police rather than industrialization and modernization.

3. Earned the animosity of Russia when failed to support them in the Crimean War and lost Lombardy in the war with France and P-S.

4. In 1866, they lose to Prussia in the Seven Weeks War threatened to disintegrate the entire empire.

5. The nationalities within the empire did not wish to destroy it; they primarily wanted local control that influenced the creation of the Dual Monarchy.

C. The Dual Monarchy is Formed – 1867.

1. The Ausgleich (compromise) set up the dm with Hungary.

a. Each country had its own parliament united by a common ruler.

b. They shared common ministries of war, finance, and foreign affairs.

c. The arrangement was essentially an alliance between the Germans of Austria and Magyars of Hungary against the other language groups that made up a majority of the total population.

d. The Germans basically said, “You take care of your groups and we will take care of ours.”

e. Neither was democratic and they hardly approached republicanism.

II. The Nationality Question in Austria.

A. Austrian Policy Toward Minorities.

1. Austria included Slovenes, Czechs, Poles, and Italians.

2. Cultural autonomy was granted but no self-government.

3. Suffrage was extended until all adult males could vote by 1907, but the Austrians maintained control.

4. The Czechs were the most persistent in attempting to achieve some political autonomy while the Poles were the least discontented.

B. The Czech Minority.

1. They were the largest minority controlled by the Austrians.

2. The Czech population was fairly well educated in relation to the rest of the empire.

3. The Czech territory was becoming a center of industry.

4. They had Thomas Masaryk.

III. Minorities in Hungary.

A. Minority Problems in Hungary.

1. Hungary included Slovaks, Croats, Serbs, and Romanians.

2. Problems were worse.

a. There were more national minorities with Roman Catholics, Orthodox, and Muslims.

b. Hungary made no effort to be conciliatory.

3. Hungary ruled with an iron hand.

a. Education, etc. had to be in the Magyar language.

b. The result was terrorism.

B. The Balkans.

1. The problems within the empire were intensified by the Balkan portion of the Ottoman Empire that was a hornet’s nest of nationalism.

2. Many groups within the OE also lived within the A-H Empire.

IV. Society and Politics in Austria and Hungary 1867-1914.

A. Austria.

1. Anti-Semitism.

a. Grew in the latter 19th C particularly after the financial crash of 1873.

b. Jewish answer to anti-Semitism was Zionism.

c. Many Jews among the small middle class.

2. 90% of population was Catholic.

3. There was a small middle class with landowners being the dominant class.

4. Generally, there was a low standard of living and literacy rate.

5. Political groups.

a. Pan-Germans wanted a Protestant Austria and union with Germany.

b. Christian Socialists were Catholic and loyal to Hapsburgs who wanted social legislation and were opposed to big business.

c. Social Democrats were not revolutionaries but supported government ownership of industry.

B. Hungary

1. 60% were Catholic.

2. The nobility controlled half the country.

3. There was even a lower standard of living and literacy rate than in Austria.

4. Never allowed more than 6% of men to vote.

5. Landowners were also the dominant class.

6. Did not develop political groups other than nationalists.
V. Imperial Russia

A. The Decembrist Revolt in Russia 1825

1. Alexander I 

2. He had been educated in the ideas of Enlightened Despotism, but Russia was very backward in relation to rest of Europe

a. Largely agricultural with feudal social structure

b. Extremely small middle class

3. There were many secret societies that wanted to reform Russia 

a. Moderates wanted a constitutional monarchy

b. Radicals wanted a republic and advocated assassination of Czar

4. Alexander’s “Death” and the Revolt

5. Alexander died suddenly in December, 1825

6. Was the crown to pass to Cosntantine or Nicholas?

7. Revolt was poorly organized and crushed by troops loyal to Nicholas

C. Nicholas I  (r.1825-1855). Key Characteristics were Autocracy, Orthodoxy and Nationality.

1. The government did not rule by laws but by police action and the army.

a. Government actions were simply forced on the people.

b. The power of the monarch was absolute, but the more contact the educated classes had with the West, the more interested they became in liberal reforms.

2. The Russian Orthodox Church was the established church.

3. Conformity with the Russian national character was expected – Russification.
D. Serfdom.

1. Much like slavery; could be bought and sold.

2. The day-to-day fortunes of the serf depended on his owner.

3. It was not a profitable system because there was no incentive, no initiative, no pride in work.

E. Foreign Policy.

1. Basic goals were –

a. Establish a Russian sphere of influence in the Balkans as protectors of the orthodox Christians.

b. The collapse of the Ottoman Empire.

c. Control of the Dardanelles and the Bosporus.

2. What did Russia do to help bring about the success of its goals?

a. Entered the Greek War for Independence in the 1820s.

1) Russia gained the areas of Moldavia and Wallachia in the Treaty of Adrianiople

2) Further advances were checked by the entrance of Br. and Fr.

b. Went to war with Turkey, France, Britain and P-S in the Crimean War.

F. The Crimean War 1854-1856.

1. Causes.

a. The immediate cause was religion; Turkey had given the right to protect Christians to France; France had historically aided the OE.

b. The underlying cause was control of the Dardanelles/Bosporus.

2. The war.

a. The Charge of the Light Brigade and Florence Nightingale.

b. The siege of Sevastopol.

c. All fighting was concentrated in the Crimea.

d. Russia hoped for Austrian help since Russia had sent troops to help Austria suppress 1848 revolts but Austria moved troops into Moldavia and Wallachia to stop a move toward the Straits.

e. Russia was unprepared for the war since her troops were ill clothed and ill-fed, and her roads and canals could not supply adequately.

f. Nicholas died during the course of the war and his son Alexander II took the throne.

3. The results and the effects.

a. Russia suffered a humiliating defeat.

b. Russia was forbidden to have any fortification or navy on the Black Sea.

c. The war marked a turning point for Russia since the war showed how far Russia was behind the other powers since Russia had been unable to repel attacks by France and Britain when neither had committed its full resources.

d. The war set off a series of changes in Russia with the coming of Alexander II to the throne.

VI. Alexander II and Reform  (r.18555-1881).

A. Reforms of Alexander II

1. Realized his father had failed to control the unrest in the country and that        Russia would fail to count as a power unless she reformed, but he was no liberal.

2. Freed the serfs in 1861.

a. The serfs received approximately half the land, which had to be paid for over 49 years.

b. The village owned the land collectively and was responsible for the payments.

c. Collective ownership made it difficult for an individual peasant to improve the land and it did not give him the freedom to leave.

d. It was a good deal for the landowners because –

1) The serfs received the poorest land, and

2) They were rid of obligations to the serfs.

1. Created the Zemstvos
a. Local governmental units responsible for roads, education, etc.

b. Was a step toward the people’s participation.

c. Led many to demand a Duma which Alexander refused.

2. Other reforms.

a. Censorship was relaxed.

b. Schools were built.

c. Equality before the law.

d. The military was modernized.

B. Industrial Development.

1. There were 1,000 miles of R.R. in 1860; 16,000 in 1880.

2. RR stimulated other industries.

3. Russia would be the 4th largest producer of steel by 1900.

C. Foreign Policy and Events.

1. Suppressed Polish uprising in 1863.

a. Poland wanted independence.

b. Sent brother there who was shot, which was the first of many attempts on the royal family.

1) Alexander was shaken by the assassination of Lincoln.

2) Alexander escaped attempt in 1866.

2. Made trip to France in 1867 and an assassination attempt was made as a Pole fired on the carriage in which he was riding with Nap. Alexander was unmoved; Nap. fainted.

3. War with Turkey 1877-1878.

a. War was said to aid Balkans that were in rebellion, but Russia not only saw opportunity to take Straits and hoped to retake Constantinople for Orthodox Christianity.

b. Russian victory threatened the balance of power.

c. Britain went to aid of Turkey because of Suez Canal.

d. Bismarck suggested a meeting that became the Congress of Berlin.

4. The Congress of Berlin.

a. First meeting of the great powers since Vienna.

b. Was effort to maintain balance of power; prevent any single power from gaining an unequal advantage so it was deemed necessary to give something to everyone.

1) Russia gained independence for Serbia, Romania and Montenegro.

2) Austria was allowed to occupy Bosnia-Herzegovina but not annex.

3) Britain gained Cyprus and France gained Tunisia.

4) Italy was promised Albania – someday.

5) Germany took nothing.

c. Led Germany and Austria to make alliance the next year.

5. Russia signed Treaty of Peking in 1860 with China, which gave Russia the Amur River Valley leading to the founding of Vladivostok.

6. Gained control of Central Asia in 1890s seeming to threaten British India.

VII. The Idea of an Intelligentsia.

A. The Intelligentsia.

1. These were educated Russians who were divided into two groups.

a. Westerners opposed government autocracy and preached that Russia needed to catch up with the West.

b. Slavophiles wanted an enlightened despot and believed Russia should remain different from the West since she was unique.

2. Many of the intelligentsia turned to revolutionary and terrorist activities.

B. Terrorism and the Assassination of Alexander II.

1. Terrorism.

a. Michael Bakunin organized the People’s Will with assassination as its purpose.

b. In late 1879 a bomb exploded in train station a half hour after the Czar’s arrival.

c. In Feb., 1880 a bomb exploded in the palace dining room killing 20 servants and soldiers.

d. As terrorist activities increased so did police activities.

2. Assassination of the Czar in March 1881.

C. Literature and Music.

1. In literature there was Tolstoy, Dostoevsky, Pushkin and Chekov.

2. In music there was Tchaikovsky and Rimsky-Korsakov.

VIII. Great Britain: The Victorian Age. (1837-1901)

A. Causes for G.B.’s stability.

1. The Reform Act of 1832—political representation for the industrial middle-class.

2. Conditions for the industrial middle class improved.

a. Real wages for laborers increased more than 25% between 1850 and 1870.

b. Conditions in factories also improved.

3. The reign of Queen Victoria (r. 1837-1901).

a. Longest reign in English history.

b. Her sense of duty and moral respectability reflected the attitudes of her age.

c. She instilled in the British a sense of national pride. 

B. Political developments.

1. Henry John Temple, Lord Palmerston (1784-1865).

a. Prime minister from 1855-1865.

b. Whig.

c. He was not a reformer and openly opposed expanding the franchise.

d. After his death, the movement to expand the franchise continued.

2. Benjamin Disraeli (1804-1881).

a. He encouraged democratization.

b. The Whigs were now called Liberals and the Tories were now called Conservatives.

c. Disraeli was a Tory (Conservative).

d. Why did he encourage democratization?

1. He wanted to win the newly enfranchised groups over to the Conservative party.

e. The Reform Act of 1867.

1. Lowered the monetary requirements for voting and as a result enfranchised many male urban workers.

2. The number of eligible voters increased from about 1 million to slightly over 2 million.

3. The newly enfranchised workers helped produce a huge Liberal victory in 1868!

3. William Gladstone (1809-1898).

a. The first Liberal P.M. (1868-1874).

b. Pushed through a number of significant reforms.

1. Civil service jobs were now based on passing a comprehensive exam rather than patronage.

2. Secret ballot for voting.

3. Abolished the practice of buying military commissions.

4. The Education Act of 1870 attempted to make elementary schools available for all children.

IX. The United States: Civil War and Reunion.

X. The Emergence of a Canadian Nation.

Concluding the Lesson:
